HenonHble KBagpaTHbIe
YPaBHEHUA
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YCTHbLIN cYeT

1 -16%3 4.4-5.6

1 -10%(-3/8) 4*(-3)-6

1 -0.7*%0.2 26-4%*(-3)

1 -10*0 65-2%4%(-5)
1 -0.1%(-1.41)

1 -8%12

1 -96:(-6)

1 17-40

1 -54-(-26)

iy, .



[Tpumepbl

1 25%%-x+34=0

1 X%-56x+7=0

0 X%-5x+6=0

0 X%-6X+5=0

1 HasoBuTe KOSPULMEHTLI YPpaBHEHNU
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OnpepnenexHuve

KBagpaTtHoe ypaBHEHNE Ha3blBAETCA HEMOSHbIM,
ecnn xota 6bl oanH 13 KoadurumeHToB b 1 ¢
paBeH 0.

\



PelwleHe HEMONMHbLIX YpaBHEHUN

1 10x%+9x=0

1 X(10x+9)=0

7 X=0 nnn 10x+9=0
10x=-9
x=-0.9

OTtBeT: 0: -0.9
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1 4x2%-16=0

4x°=16

x?=16:4

x%=4

X, =v4  X,=/4
X, =2 X,=-2

OtBeT: X,=2, X,=-2
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